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1. Determine the rate of change for each of the following linear relations.

a) A band’s number of monthly listeners on a music
streaming platform increases by 1000 every month.

b) The height of an elevator decreases by 150 feet every
minute.

¢) A car travels 240 km every 3 hours.
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1. Determine the rate of change for each of the following linear relations.
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1. Determine the rate of change for each of the following linear relations.
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3. The graph on the right shows the volume of water in a tank
over time.

Volume (L)

a) Identify the dependent and independent variables in
this relation.

a0
b) What scale is being used for the time axis? 40 30 -
c) What scale is being used for the volume axis? Z: ¢
d) Is the relationship between volume and time linear or 10 fee—|—1
Time (min)

o .
non-linear? Explain. 0 2 4 6 8 10 12 14 16 18 20

e) Determine the rate of change of volume in litres per minute.
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4. Foreach of the following linear relations,

i) state the initial value (start value). 1ii) find the rate of change.
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4. For each of the following linear relations,

i) state the initial value (start value). 1i) find the rate of change.
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7. Foreach relation, if the rate of change is constant, determine its value (without units).
Otherwise, state whether the rate of change is increasing or decreasing.
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7. For each relation, if the rate of change is constant, determine its value (without units).
Otherwise, state whether the rate of change is increasing or decreasing.
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7. Foreach relation, if the rate of change is constant, determine its value (without units).
Otherwise, state whether the rate of change is increasing or decreasing.
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8. The graph on the right shows the volume of liquid in two V(L)
tanks as they are drained.

a) How much liquid is initially in each tank?
b) How long does it take each tank to drain?

¢) Determine the rate of change of volume for the liquid
in each tank.

d) Explain why the tank with the lower rate of change
value is actually draining more quickly than the other
tank.
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e) When initially full, a
third tank, Tank C,
takes twice as long as
Tank B to tully drain
and drains at half the
rate of Tank A. What
is the capacity of
Tank C?
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